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And he did not say it; but Rabi Yochonon said, if he stole, etc.

Overview

X7°1 "1 repeated the ruling of 27 (that if someone was w7p» a woman with an object
which he stole from her, she is not nwmpn) before jam> . And °"1 said, ‘did 29
indeed say this’. Initially we assumed that "7 maintained that 27 was incorrect, so
the X3 asked, ‘and did not °"1 give the same ruling’, namely if one stole and the
owners were not WX™ neither can be w™pn this money, which seemingly
corresponds to the ruling of 27.! Our Mmoo has a difficulty with the s'% a3
question, and discusses the 1717 in the rulings of both 7171 "7 and 27.

n1voIN asks:
= 20997 Y12 NYN NN 1309 229 99N NY NNDT N9 9910 NN NN

It is astounding! What is the X972 surprised about; perhaps 311 '3 only said

his rule when it is stolen from others -
= NYTNPN NHNT 9MINT 297 MYHY A9 A797 YA YaN

However with an object which was stolen from her, perhaps >"7 argues with 29,

who maintains that she is not n@TI?%, however °"1 may maintain that she is nwnpn -
- 33NPT 1A 290 NYNHPN NPT HTHAT TNDA 1YNY RNT

For it appears from the X123 shortly that by 77797 913 there is more reason for her
to be nwTIpn than by X»YYT 913, so what is the s'x1%3 question, 121 18 X2 XIM'?

nBoIN answers:
= VYA 99993 23N NNDYT D10 29V NTYT D 23NNT NNT 90D W

And one can say that this which we say that by 777>7 ®13 there is more reason for
the P TP to be effective than by X»bp7 %13 that is only if there was a prior

engagement -
=99 Y YIPY PN NN NT NNYYT HTan N1 YT ¥ NAYIN PPV KT YaN

' Just as thief cannot be w>7pn this money, because it is not his, he also cannot be w7pn a woman with this money,
because it is not his.

2 ynp ' is discussing whether the 1713 can be w>Tpn the item; it is always a case of 2> X7 713 (he did not steal from
wIpn, but from someone else).

3 When one steals something from a stranger and gives it to the woman for PwT’p it is understood that she is not
nwTPn, for since the stolen item is not his (for the owner was not WX n), he did not give her anything (it needs to be
returned to the owner). However when he stole something from the woman and gives it to her as Pw17°p and she
accepts it (knowing that this item was stolen from her), this indicates that she forgives him for the stealing and it is
as if she is granting him the object so that he can be w7pn her with it.
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However when there was no prior engagement, then on the contrary, 7797 232 is
worse (less chance of being nwTpn) than X»®p7 913, for she can say, ‘indeed I

took the item but I took what was mine;* 1 did not take it as PP -
- STYTY K912 5999 YN 3N

And 21 is discussing a case of 79T N9, so there >" agrees with 27 that nwTpn 7K (even)
by 177 o1, for by 77w X? we say that 777 91 is less leaning to be nwmpn than Xn%y7 o1,
therefore the Xm3 correctly asks 131 9K &% X1

mooin asks (a general question):
= NUYWD YITPNY DID 13INT 1399INRT NN 19MNYNRD 1IN 2349 NNN NI 9NN ON)

And if you will say; what is >''9 coming to teach us with this rule where he

states that the thief cannot be @ 7pn the stolen item; it is obvious!
= YINA NIN N3P 1N ITNT 7592) SM0IWN N1992 13998 NI4T

For we have learnt in many n»iw» and ninm32 that ®13 cannot be acquired

unless there is 2°5y2 wIN -
= 193AN) 1Y 199D 1) GOV (3,33 97 xyvwn xaz) SHNIEN 19IRT NP1 1199

For instance that Xn>>12 in MN°3» X 19 which states; ‘the river swept away

his beams; his wood and his stones, the rule is -
= IRD YWNIN) ND NN ¥2UN IV DN 90 00¥a1 IUNIN) ON

If the owners were wx>n» the finder may keep them’; indicating that if there
was no 2°7¥2 @R he cannot keep them. We see that v’ is required!

N1D0IN answers:
- MY JIRY 295 JWITPNY 9199 SN PRT Y $RWN KD 1IN 5297 7INNT 1Y Y

And one can say that the ruling of >''9 teaches us that the 131 (the one who was

robbed) cannot be w>7p» the item because it is not in his possession -
= 8559975 VYN DIV NIY 1H1a HaN

However regarding the 3713 there is indeed no w7°m that he cannot be w>7pn it,
as I explained that we already know it from other sources.

4 If it was 77w (they already agreed to be married) we can assume that if she accepted 777 913, it is because she
wants the 1217p to be effective. However if it was 77w X% she may have no interest at all in marrying this stranger,
she only accepted the 7213 in order that she should have it, for if she would refuse it, he will readily go away and she
will never be able to retrieve her 72°13. [However by 0°nx7 913 if she did not want the 1w17°p why did she accept it?]
See ‘Thinking it over’ # 1.

5 See the X113 on the top of 2,21

6 See ‘Thinking it over’ # 2,

7 See ‘Thinking it over’ # 3.

8 See footnote # 11.
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mooin asks (a similar question on 27):
= 1IMNYNRD NN NN NYNIPN NN DN NYDPT DYDY 9INPT 993 29D 9NN ON)

And if you will say, according to 29 also, who ruled previously that if he was

w7p» her with 913, she is not nwIP%, what is he coming to teach us -
=9V 1N DYDYAN YNNI RYT NINT NN TNV NIvn N NN

For we know it directly from an explicit mawn» that wherever the owners were
not WRNM, it is not his (the thief’s), so what is 27 teaching us?!

NID0IN answers:
= MIVNN NN INT 397 NINDMN TPIVEN DIPN YN 91999 W

And one can say; notwithstanding the 71wn, the ruling of 21 is necessary, for if

we relied on the ruling of the mawn -
- YWY PT 129179295055 WINA NN N3P NI NID NN NPT NININ 1Y

I may have thought that it is only regarding monetary issues that the thief does
not acquire the stolen object unless there was wIRs, for the purpose that 7'"s2

should obligate him to pay (we are strict with the thief) -
= 10) NIINNY NYNIPN NYN YTP ORY 1390N IWNRN) XDT 2) DY GN X99IND HaN

However we will say — to be strict — that even if 0°7v27 "WwX»n1 X% he is P
regarding if he was w7p» a woman with this 7%°1 that she is n@Tip» and requires

a YA (in such a case where we are strict with the thief that perhaps he is 711p) -
= YNPN NINRT Y 10299 7NYINI TIIVSN 795

Therefore the ruling of 29 is necessary to teach us that she is not nwTp» (and
we rule that he is not 737 even RWIY) —

mooIN resolves an anticipated difficulty:!!
= 913999 95N RY NIN 1IN 2297 NNDIN NIND) NNHNT 999Y NN XRNYM

And now it is well understood what the X923 is astounded by the statement of

% 11 derives his ruling from an inference of our 7wn (since the 71wn states that the fruit belonged to them, indicating
that if it did not belong to them [it was 7713] they are not nwTpn), however why rely on an inference we there are
other sources which state this explicitly?!

19 This (perhaps) can also be the answer on the (same) question on >, that the 7213 cannot be w>7pn the 79T even
X%, while from the other sources we only apply it only for N1 °2°7 (to be strict on the 7213).

! mpoin previously stated (see [text by] footnote # 8) that the w170 of >" was regarding the 0°7v3, that (even) they
cannot be w>7pn the stolen item; however there is no w17°n that the 1713 cannot be w>7pn (without ¥X°); we know that
from other sources. If that indeed is the w1717 of »", why then does the X n3 ask, ‘and did >"1 not say’ the same rule
of 27, but this is not a question, for >"1 was merely discussing the 2°7v3, not the 7213, he mentions the 1213 only 777
238. Additionally the X3 should have asked, what was >"1 wondering how 27 could have ruled that the 7213 is not
P (without wIR®), when there any many sources that state that same ruling. [However now that we explained that
27 (and >") were teaching a ¥17°11 that even X7 they are not 1P, we understand the s'813 question on *".]
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*"9 (that he questioned s'27 ruling) and said, ‘and did he (>''7) not say’ the same
thing as 27, meaning -

=19V 1RV 29D YWITPNY 9199 199N 9NINT 1NN NI T2 9N XY 13N 229 )
And did not "9 rule similarly (that even X215 there is no 13 without ¥X°), but

>"9 ruled that the 7713 cannot be w P2 the 79°13 since it is not his -
- 1) 199819 NI RY 2123 PYITPA 13 139) 1273 1199 13297 NNDIN 1999N)

And there is not even an 31297 910°R if someone uses this ¥7p, so similarly by

12792, we should also not be strict to require her to receive a w3 -
£33N 22919 NI 929V 1) RNV

And now the X% properly cites 5''9 as the source that even X2 there is no 7P by
1712°13, if there is no WX,

Summary
The wyn in the rulings of 27 and >"9 is that a 197 is not 71 without %2 WIR™,

even XnIns.

Thinking it over

1. m»poIn writes that by 77w XY there is less reason to assume that by 717°7 913 she is
nwTIpn, than by onxT 213,13 Why is it then that 21 (who is discussing 77w X?),'
states '77°7 9132 12°0X', when there is less wv1n by 777 71?1

2. mooIn writes that there are many n1iwn (and mn»73) that teach us that 7%
without ¥R is not 721p.1° However, mooin (merely) cites a Xn*>92 (of 21 771 quw),
but no 7awn. What does n19010 mean that there are many nvawn?!!’

3. mdoIn proves (from the Xn*72 of 131 771 AUW) that there 1s no 773 without ¥IX> by
77ax,!'® perhaps by 7271 (where there is also mw Mw) there is PP even without
AN SRS

12 One would think that we should be 7an» and make an (73277) 710°X on someone using the WP which the 1913 was
w>pn. The fact that it is not w7pn at all (even XIm17) teaches us than under all circumstances one is not 7 a 72°13
without 0>y WIN>.

13 See footnote # 4.

14 See footnote # 5.

15 See x"wmn.

16 See footnote # 6.

17 See mwn nom.

18 See footnote # 7.

19 See 71707 *wion X # 113,

4
TosfosInEnglish.com



